N
/1
N\

THAEE ZF &

TEFF M

Bt E (ATH) X

SF4E4H268

MNZATH L KE/NER

4 A 5 A 6 A 7 A 8 A 9 A
EETETE TUREMI00 AR G5 T8 B A ) REMEH (BREEL] BRIR XPEILEID
11% =] K & SIS IR )=| TR |oraommne |2t 1
SIZEEL IR (A— /LB IE DH EHE) HAEHRF65 SRR 00~11:00 NS (AM. T,
2 | A RH—IY =S LT —H—ER 5 £ K930 K| ooy Btha [ xmAGPTAZS R EHMBE T+ HAD) - KRR (EAR KL =E) N % 2
R E2H] RoReNAER
3|8 X & H K + 3
HEYDE BIRIEEE K133%H B1EFOREIR (BA 28 LT fRE N BE (BBRE SHEEEAI410]
4 A 7K o g =) A X H 4
CEL0R ZRREDO(1FHELD)
5K PN H K| HEHE il A 5
CEEMRBIR (BRIEBA] EZEBBRAB SHMREAILI0] EFE0)
6 | K & | nv s RKH | MAFPLLUT R 2~ 645 (2B H) )= 7K T | pamacman 6
SNBNFE K2/N9:00~10:00 R k. oA 5 EFE0) (BB SBEMBEEAILI0 SOARMEL RE]
7[R * 3. B H1E) K| BRES K| REOR =] 7K 7
BIFIAERS10 AEK1330 RE2ARH (BEREHC] [BBRG SBHEE
8 |& =] K £ A14:10] K FiAEscis B N 8
BEZRZ 6ADTE) XELNEMH RABER EEYT
9 |t A K | ey Btk |5 $RIKR (hEREER9:30~10:30 = N A 9
REH 2820 Z2ARA [ERESEE] R2mRH RZrRE
10| B W | hEEEEArEER 35 & HBHE AMRE 6148 SHERIE 6424 =] 7K T 10
(GHEMEE 110 —F F&] GBI RA SMBHUFE00~11:00 K2/ (HH. —J&. 3% CHEERE] FRERERS o)z
11| 8 X FLEYDOR 7K AR (81-2-3, 54) MHHE1500-16:30 = L EF) A X =] 11
(BHMEE11:10— 7 TR EARE (45, 15) —F T (GBMEE] BEZ#E(10ADHS)
12| RY—IVHI T —FH9:20-12:10 K| ooy Btha [k HERE N - FERRBE =] W | BT [Ro—hor e 5—%#H9:20-12:10 e B 12
RS (12 AEMEEG00 T R] BNRE (6. BRA1-2-3-6%) BamHBE1530- TN T AL (5-68)3- 4% *EAEREE (GHMEE] (FArE] 7576 &% A]
137k EEAUE(1~3F)ERARD % 16:30(FHE) A 7K + N | ABEL | HERHE KEEEA%30~11:30 13
(15 A B3 3.00 TR ] SMEBHUEE00~11:00 JICISEH (LH. BE. =B R GEEEED)] (AR E]
14 | K | pvv ko |ERE (4~65) + B0 - k&N B0, FHE., ) W hBEES K|Fvzxs1n H 7K 14
(1 EEABRIEE 1300 T R] BN By MEE FEATAF(1-28)3- 450 S TN EE Y] (CREE T3 EE IR *RBESIEHELA0AS)
15| ¢ AEH BHRE1F2~45H B 7K KB EBIEHELEGHS) % *BEBIEZELATAS) A N 15
*BBESIEEELAG 5A5) TN T AL (3-45) 3- 4R (AR E] BERER
16 (£ A Ya—F—#ES 11:000%%) b | D2 T W % 16
AT RS 7570 &7 LVEERE(I57) AEHRFIE TR 2% % 13:00- 1500
1718 N | FYREA L RO— LN 5—SRH13:10-15:55 % B 7K EiS 17
BAZE(GANDTE) [IFESHEREAILI0FR] RALHED BOR BE20.00
18| B R—REIRE 7K + B X H 18
5570 15 ESEmERAILI0TR] RAHEQ BERT BEDH
19 | e | sesesocsns | % 2E2 1 - 2B R RES @EE PNEDZE L A x e A 19
FEOW FRBRE INHNT — 1T HEDRILPEG FIEMRER SNBHLT— 5570
20| 7k YRR 14811:00 £ KARHRB(ER4-5-6. 2-4-64)13:30 A K # BEHYDK T W | B RES RV HYES5—FH13:10-1555 20
(I ESHEEREAI4IOTR] BRI 750@ SMBLT—17ERE BEIREH(~8/28) XA MHHR] BT —17EERD)
21|k BT 175 RS + PARET PN = K 21
FRFRZ(EE1-2-3,1-2-55)13:30 FIEERFHERE1:30 ICTHR—F—FK [BEERAM] B ZEREDRER
22 |& =| K = A K 22
HIRFHRD 1330 (1 ~3% - 22) NB = RG— VA9 5—FAk9:20-12:10 [Fror
23|+ B FHBHEO(FHE) N ESECEIN aE wn £ 23
7570 K R R R AR (PM)
24| H K| BEER & H 7K +* 24
KERHED (22F) R— RSN ERE SRBUEEY 00~ 11:00 KE/INRR. M. 5 BRI
25| A K d b 1BER) A N =] 25
- *PTAREREH —F R 9D RAE B 930~ 1030 K IR R B IR (AM) BRI
26 | K |#EEES K |vrBta =] X = A 26
BIEPTARSXE A~ CRIE BRI -
27K il APTARH %S H A K b K| HEEER 27
FARMAT BEER (15 E5B MR 281345 MR 7576 (1 ZHOEED) BRI BERR
28 | K |avoBtha T X |#EEER 7N H VIS 4 KB EEM9.30~11:30 28
BAOH BRI FIEMBER BEMEE 0FR]
29 (& =| 7K & A K | bitirs 29
IRFHED 1330 (4~6F) NB = EESES G ERGEE ) (BEMRE 10T R] SERRAE Ge-1~3%5) 9 B R A39:30~ 11:30
30| £ A K |nvrmna ae X & 30
ARG — & TR DPERS CE G ) (BERIEE 10T R] 5B AIE (& 4~6%)
31 * * * * * VAE LS * * * * * A 7K * * * * * 31




FHAEEZRTEFF MG E (BRY) XTEOMESTHRICEENELSEENHYFET Z 7RIS, TH4F4A268 MBRIARE/NER (BBER)
1

1 0 B 1 B 1 2 A 1 A 2 A 3 A
EH — EXEIREECREET ) EXFEIN [EXTE)] %H EXEN EXEN
* PQE =233 VN =] K VIS
HETREOR FEOW ERERE (2 F OB MEE] ®E
=] 7K € B N ESZCEON N ESFC RN
e RERER x XEDH + FOEAREN (AR —J8 NE fBE FL) X *H - RERHR1 - 25 EABEIEE] -
0
F820 MAMINFRELBRAR
BEZRZ(1AOHE)
K * A X =] A
ETEY EE2OCEHELD)
K [avrrtka |y 1To 22— LA 118 248 (F i) =] N|ExER & A A
EERRE [BREBA SEHED (REE) BRRESCOBES ESE0) BEWRE —F FR
il YATVRRG— LA (FAD) A K + N smes VAEE T
REDEEED = S7®
o W | Aoy Bk [ A BB ER 54 10:25~ 1145 N EZAOE] =] 7K 7K
R LERE RS BAGH
H K ol EE Yt A K |ovrriaa N
AR—UDH EZARA FITHRES R2ARE BMEE 0TR— REMRE BIEPTABRR KRl RZABH
B N ESZCEON + wn FFH % %
757® RRMIEE (BRIEH6) BERAOH MATDEDIRAS
K| hEESR & =] K T T
RY—IH9 25 —K#9:20-12:10 [BxiEECc] EERRR(ADTE)
T A N B> 0N =| =)
9 HRKIE AEEREF:30~10:30
PN EZ L =] P4 £ A A
*BRBSEAELHTARD) REOH 7505 R
il o2 A 7K + W & w
*RRESIEHELA2AR) *RRELIZALLA( RS BRNEETHRES B3 1130 *xRBASIEELLHG CEREEES
T+ N | IREE S| RI—LAY 25— 13:10-1555 PN =] 7K 7K
MAREZ DY CEFPIICEFLED) *BEBSZAELHCAD) 9 SRR B EREM930~ 1030 BRET B0H
=] 7K € B b N =240 b N =240
KRFERED B EJF0) FEOW DO FHEMEE] BT —17ERE (65 EIBMEEI 10T R
A PN EEZET * N|EEEs il il
7570 EXTN
N | B RES|RI—LHI 5 HH920-12:10 € =] K + +
HEHRESE MATBILBI-RE
TF A K |evy Btk B =}
AT NP E R BRET B(I~5%) —7 NRL6F EIRMREI*
NI ES- A0S =] " % SBNT—1 78BS )= A BAFREE ShBLTF—1TRH
INBLT—1TERE INBLT—17ERE) INBLT—1TERE KRR FIRARER (B0 T =5 A BE & INBLT—1TERE 550 BEEH) FA0H
& A K| KiEb + ? k) RECEEFRIAEBRRER 58 | A [ REES|RI—Lhv 5 —EHe20-1210% B n
Y—>7U—%
BoEAREN AR AR B0 58 A% 1 BRRABAERZS? 750 CEMELD) RERTH RELIREMELA SRR BT )7 EE S IR
T ") N | ARBEES|D KBTI RT4 LGS KERERRB0~1130 | K B y—+ 7K K
a K BEEHOH + FIFBRER —F TR s x REREH x INEERR
7} i
MEZE (11 AOTS) BERGGERBRER) ZEREA (~1/9) 7500 BT=
B K | oo Btko |9 REIzRT4/VEE KEEEA0~1130 | £ N | REE S |RI—LHH 25 —KH13:10-1555 e <
—F TR BERAGCERBRR)
K| hEESR ol =] 7K T T
BEER BEMR RALGDEUAR
T )=| K |ovrmika |4 srikg dEmeEm30~1030 =] =
MATRTAFRAS FERPIEH (3/31)
K |nevmta =] i & A A
RSMEE B i = E=0)
=T RERE EEMD - ERS0(ELD)
& A K x X |HEEES X
MATRT BBs - —F & *H
x N |HEEER /N A * * * * * 7k
EEI5 *E
H 7K & A * * * * * PN
CETES ®E ARG —H TR CESE
A * * * * * T n * * * * * &




